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1 240 (76 77 87) 96
2 242 Ttbuint V22« 75 82 85) 86
3 248 Tebeist Tatleist Tatheist (80 83 85) 87
4 248 Tatbeist ( 80 2;4 84 ) 94
5 249 Tlaise Tatlaint Vel 77 83 89 ) 97
6 251 Tatheint 772 79 86 86 ) 89
7 251 (83 83 _85 ) 91
8 251 TR Tatlains Tatloint (79 86 8;3 ) 91
9 252 Tthent (80 85 87) 88
10 253 Ttleist Tetteist ZZ%% 3> 83 88 ) 93
11 258 Tabuint 7% 34 85 89 ) 89
12 260 T luise V22« 85 86 89 ) 94
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23 272 TR (89 89 94) 97
24 272 Tebeist Ttlaist (88 89 95) 97
25 273 T luise Tatleist Tatheist (90 90 93)101
26 274 Tatbeint Tathoint (88 93 93) 96
27 274 T luise Toleint (85 93 96) 97
28 275 e taias Tatluint 224 88 91 96 98
29 276 T luise T (90 91 9_5 103
30 276 T luise T (88 90 98)113
31 278 Tatbeint (84 94 100)103
32 279 TR oad ¢ 87 92 100) 101
33 280 et Tabuise (91 94 95)108
34 281 Tatbuint ( 87 97- 97 H 99
35 281 (90 95 96 ) 106
A
36 284 (83 99 102)102
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40 309 Tebeist - (88 109 112
75 (37 38

o0 A WINP




